Guidance document 34

To change asin Ax+bcos AX in a sine function
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Waeu a sinAx +b cos Ax Tegluguilenduletuazymeigegn - agalatne a and

find the maximum - minimum value

W abeR uaz 0 Wyl

o . b :
NgUammdey sind =—— ..b=+a’+b’sing

vJa? +b?

va® +b? b oS =—2& .a=+a’+b?cos@
va? +b?

a
210 asin AX +bcos Ax =+a® +b? cos@sin Ax ++a’ +b? sin@cos Ax
= (\/a2 +b? [cos @sin Ax +sin & cos Ax]

= (\/a2 +b? ksin(Ax +6)
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Write the following functions in the sine function and find the maximum - minimum

value
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To change asin Ax+bcos AX in a sine function
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Learning outcomes Appply the sum and difference,double- angle and half- angle

identities to problem solving

aUsvasdUaene  Waeu a sinAx +b cos Ax iegluguitanduluiuasmeangan -

Agala

Intended destination To change asin Ax+bcos Ax in a sine function and find the

maximum - minimum value
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Write the following functions in the sine function and find the maximum - minimum

value

1) —3sin2x++/3cos2x solution a= -3 ,b= 3 , a?+b® =..
cosO = sinQ = oo s0, O on quadrant .... Then O=...

answer —3siN2X +v/3C0S 2X ..o and maximum is......... minimum is........

2) —sinx—+/3cosx solution a= .. L b= . Naf+b? o=
cosO = sinQ = oo s0, O on quadrant .... Then O=...

answer —SinX—\/§COSX e and maximum is......... minimum is........

3) sinXx+cosx solution a= .. , b= . vart+b® o=
cosO = sinQ = o s0, O on quadrant .... Then O=...

answer SINX+COSX =...cccooene.... and maximum is......... minimum is........
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4) cos— —+/3sin=
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1) —3sin 2x+ /3008 2X =2+/3 sin(2x+150)
c.fgeane 243 Awhgede 243
2) —sinx—~/3cosXx =2sin(x+240")
- Agegafe 2 Avnande -2
3)SiNX+COSX =42 sin(x+45")
- Angeaefe V2 Avnande -2
4). cosx —/3sin > =2sin(X + 150°)
2 2 2

S AgeERRe 2 Adanfe -2
5) —25in3x +2005 3x ==2+/2 sin(3x+315")

- AgeEnfe 22 ﬂ'w‘hqmﬁa 242



